


NAME…………………………………………………..ADM NO…………..CLASS………….

TERM 3 END OF TERM EXAM 2012
MATHEMATICS FORM 2

INSTRUCTIONS: ANSWER ALL QUESTIONS IN THE SPACES PROVIDED

1) Simplify ;	(42/5 – 14/7)+ (18/21 – 4/15)							(3mks)














2) Use logarithm to evaluate									(3mks)

3 (0.06425)3 x 153.9
             2.292



















3) Given that a=2, b=1, and c=3, find the value of 						(3mks)

3a2 – 2b2c + 4b
2ac + 2b3 – 3c















4) Simplify											(3mks)

323/5 x 542/3 x 493/2
       85/3 x 73











5) Solve the simultaneous equation 								(3mks)

3x – 4y =10
X + 3y = -1








6) Use squares, square roots and reciprocal tables only to evaluate, giving your answer to 2 decimal places.										(4mks)

       2       +    2
 	  292














7) Solve for x without using mathematical table or calculators.				(3mks)

9(2 x ¼)  x 27(x -½) = 729(x + 1/3)












8) A rectangular tank has the capacity of 216 litres.  A similar tin has the capacity of 27 litres. If the surface area of the tin is 36cm3, find the surface area of the tank.			(3mks)










9) Four metal rods have lengths of 216cm, 324cm and 270cm. The rods are cut into shorter pieces of the same length such that there is no metal left. What is the maximum length of one of the pieces?										(3mks)















10) Calculate the area of the shaded region below, given that AC is an arc of a circle centre B and AB=BC=14cm, CD=8cm and andle ABD = 750.						(4mks)


























11) Solve the following equations 								(3mks)

x – 4 + x + 1
    3          2













12) A circle has a radius of 18.2cm. Calculate the length of an arc that subtends an angle of 270 at the centre.											(3mks)













13)  Expand											(3mks)

i) (x+6) (x-7)






ii) (3x + 2) (2x + 5)




14) Factorise

i)  X2 + 6x + 8									(2mks)








ii) 6x2 + x – 2										(2mks)








iii) 4a2 – 64b2										(2mks)








15) Find the equation of a line passing through point (3,5) and parallel to the line y-2x=1	(3mks)
















SECTION II

16) Three women Joan, Faith and Stella contributed a capital of sh 80,000, sh 120,000 and sh 90,000 respectively to start a business. They agreed to share their profits as follows; 30% equally, 45% in the ratio of their contributions and the rest was for purchase of new tables and chairs. In that year, they made a profit of sh 87,000. Determine;

a) Amount that was shared equally.							(2mks)






b) Amount that was shared according to the contribution ratio.				(2mks)








c) Amount set aside for purchase of tables and chairs.					(2mks)








d) The share of Faith and Stella.								(4mks)       












                                                                                                                                                                                                                                                                                                             
17) The figure below represents a frustum of a base radius 2cm and height 3.6cm. If the height of the cone from which it was cut was 6cm;












Calculate

a) The radius of the top surface.								(4mks)












b) The volume of the frustum.								(6mks)
















18) The figure below shows two intersecting circles with centres O1 and O2 and radii 18cm and 12cm respectively and a common chord AB which is 18cm long.














a) Find the area of the segment APB.							(4mks)













b) Find the area of segment AQB								(4mks)











c) 	Find the common area between the two intersecting circles.				(2mks)	



19) The figure below is a right pyramid with a rectangular base measuring 8cm by 6cm. If the slant edge is 12cm.












a) Find AC										(2mks)






b) Calculate the height of the pyramid.							(2mks)






c) Determine the surface area of the pyramid.						(4mks)














d) Find the volume of the pyramid							(2mks)


20) The diagram below shows a piece of land for farm land. ST is 600m and is on a chain line.















a) i) Show the information in a field book.						(2mks)









ii) Calculate the area of the land in ha.							(5mks)



















b) Using a scale of 1cm rep 20m, draw accurately a representation of a rice field whose measurements are entred in a field book as follows (HG=240m)			(3mks)


G
200	F	70
E	60	130
		100	D	80
C	40	60
40	B	50
H
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